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JE 2 K& ouT IN Total Hdep  Net R. 044£09 26 H
EE XA BE | 42| 41| 83| 108] 722 HAE
B thK B | 44| 43| 87| 144 72.6| AAE
3 s &= | 41| 44] 85| 120[ 730 S AE
4 mA B | 41] 43| 84| 108] 73.2
5 PR CE | 47| 46| 93] 19.2] 738
6 2R HE | 42] 49] ot 16.8] 742]
7 O g= | 52| 50| 102] 27.6] 744]
8 LB | 50 51 101] 264 746
9 AH Fi& | 40] 45] 85| 9.6] 754
(10fz] 2H A | 43| 46| 89| 13.2] 758| # NE
11 WIfE #BIEA | 50| 50| 100| 24.0| 76.0]
12 Bl A% | 53| 49| 102] 252[ 76.38]
13 R EERK | 43| 47] 90| 13.2] 76.8]
14 HNE F=X | 47| 42] 89] 120 770]
15 Bk &3 | 59 | 54| 113] 36.0[ 770
16 Ml Hith | 51| 50| 101] 24.0[ 77.0]
17 FER % | 51| 50| 101]| 240[ 770
18 kA FEAER | 49] 51] 100] 22.8] 77.2]
19 FE R | 50| 441 94| 16.8] 77.2]
(20f2] /#k R | 47 45| 92| 144 776 # AE
21 e 15EA | 49| 49] 98] 204] 77.6]
22 WE X | 48| 50| 98] 204] 776
23 INK FYF | 50| 53| 103 25.2] 778
24 =BAK & | 49| 53| 102 240[ 78,0
25 ko TVy | 48| 48] 96| 18.0[ 78.0]
26 KX | 50| 46| 96| 180 78.0]
271  miR Eith | 40] 50] 90] 12.0] 780
28 g BAX | 46| 49] 95| 16.8] 78.2]
29 AN #z | 55] 52] 107] 288] 782
(30fz] WM BE | 52] 55| 107] 288 782 S
31 HE BE— | 46| 48| 94| 156] 784]
32 WA fE— | 48| 46| 94 15.6] 784]
33 IBE FIRA | 41] 45| 86| 72| 788]
34 M &E | 53| 62] 115] 36.0] 79.0]
. *BG=A"AM'OA EA={—¥'l, BI=N'—7'{ BB=7'—t'— BM=7'—t'—f—h— AL=FIn'FOR
& our ‘IN
| mULE DB @ | 6|®]| 7 8 9 , @|@| 13| 14| 15 a Total
PAR [ 5[ 3] 4[4]4[4a]5[3]43|4[4a]4][3]4a]5]4]3][5]8]72
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JE 2 K& ouT IN Total Hdep  Net R. 044£09 26 H
35 Bkt &E— | 54| 53] 107] 27.6] 794
36 Rl & | 58| 52| 110 30.0] 80.0|
37 BE —#& | 44] 52 96] 144[ 81.6]
38 mR B | 50| 57| 107] 25.2] 81.8]
39 tm #E | 52| 47] 99| 16.8] 822]
(40f2) Bk Bk | 56| 55| 111 288 82.2] S AH
41 =H &% | 53| 61] 114] 31.2] 828
42 KB RA | 54| 66| 120] 36.0] 84.0]
43 Bal & | 61] 58] 119] 32.4] 86.6]
44 At EAX | 56 | 55| 111] 24.0[ 87.0]
45 A0 HEFEER | 66| 58| 124 36.0] 88.0]
46 Il i | 62| 62| 124] 360/ 88.0]
47 &8l BE | 59| 65| 124] 34.8] 89.2]
48 R HE | 70| 77| 147] 36.0] 111.0| BB # AH
49 Ea i | 81| 70| 151 36.0] 115.0| BM # AH
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